Sample Test 1 MATH3132

Time: 75 Minutes
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where C' is that part of the curve x? 4+ 32 = 4, £+ 2 = 4 in the first octant from (2,0, 2) to (0,2, 4).

. Evaluate the line integral

Answer: (16v/2 —8)/3

. Evaluate the line integral

1
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C X

2
where C is the curve z = 22 + 1, y = z from (1,0, 0) to (10, 3, 3).
Answer: 63/10

. Find a value for the constant ¢ in order that the vector field

F(z,y,2) = (ca® + y)i + 2%2) + ay2’k
have zero divergence at the point (1, —2, 3).

Answer: c=6

. Evaluate the line integral
9§ (322 — y? + 3ye®*)dx + (22% + 1 + €**)dy
C

where C' is that curve bounding the area enclosed by y = 4 — 22, y = 0.

Answer: —512/15

. Evaluate

//S (z% + y*)dS

where S is that part of the surface 2z +y — z = 1 inside 22 + y? = 2.
Answer: 21/67

. You are to evaluate the line integral
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once around the curve z2 + y? 4+ 22 = 3, 22 = 22 + y? directed counterclockwise as viewed from
the origin. You are told that

V xF = (2% + yHi—a2?j+ 22 k.

Set up, but do not evaluate, a double iterated integral in polar coordinates that has the same value
as the line integral.
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Answer: —/ / e” "0 dr dp
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